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QUESTION 1

Which component of the SD-Access fabric is responsible for communicating with networks that are external to the
fabric? 

A. edge nodes 

B. control plane nodes 

C. intermediate nodes 

D. border nodes 

Correct Answer: D 

 

QUESTION 2

What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE
for longer than a few weeks? 

A. Give them some of our flash files that can be played on any browser. 

B. Set them up with an account on a Cisco UCS server that hosts ISE. 

C. Set them up with a dCloud account. 

D. Give them our ISE YouTube videos. 

E. Provide them with a downloadable POV lit. 

F. Point them to our dCloud demo library. 

Correct Answer: C 

 

QUESTION 3

How would Cisco ISE handle authentication for your printer that does not have a supplicant? 

A. ISE would not authenticate the printer as printers are not subject to ISE authentication. 

B. ISE would authenticate the printer using 802.1X authentication. 

C. ISE would authenticate the printer using MAB. 

D. ISE would authenticate the printer using web authentication. 

E. ISE would authenticate the printer using MAC RADIUS authentication. 

Correct Answer: C 
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QUESTION 4

Which option will help build your customers platform during the discovery phase? 

A. business case 

B. detailed design 

C. POV report 

D. high-level design 

E. PO 

Correct Answer: A 

 

QUESTION 5

Which is a benefit of a cloud-based SD-WAN deployment? 

A. might be required for compliance with industry standards 

B. controller availability never an issue 

C. security never an issue 

D. agility of change dependent only on your own internal IT processes 

E. instant scale 

Correct Answer: E 
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